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1. In each case, decide whether the matrix A is diagonalizable. If so, find P such that P~ 4P

is diagonal.

5 g8 16 2 1 1
(a) A=| 4 1 8 b) 4A4=|2 1 =-2].
-4 -4 -11 -1 0 -2
(20%)
2.  Decide whether each of the following sets of vectors is linearly dependent or linearly
independent.
1171713 _1 ; i 1770774
@{|-1 | 1 L-1]} ({ _2 ,1,__1} @ {-2L0, 5]} (20%)
311-211 4 311016
__ 2~ __]‘_ L 4 -
% X, —2%,—x; +3x,
3. Let T:R'—R® bedefinedby T(| > [)=| 2x,—4x, +x,
*s X, —2x, +2x; —3x,
Y4
(20%)

(a) Prove that 7 is a linear transformation.

(b) Find bases for ker7 and imT , respectively.

(¢) Find Nullity(T) .

2 7 1
4. LetA= |1 4 -1}, (20 %)
1 1 0

Find |4|, adid,A”" and adj(adjd).

5. Prove that ‘AB} = ‘AHB! for any nxn matrices A and B. (20 %)




